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1 Introduction
This documents captures proposed revisions discussed offline of the "Questions for be answered for any proposal" captured in chairman notes for how to progress the study for UL data transmission in NR new state.

2
"Questions to be answered for any proposal"
Agreements for how progress the study:
1: 
For any solution to send uplink packet, the latency, signalling overhead and UE power consumption, UE mobility shall be evaluated.
1a
We need to discuss and determine the use case for data transmission
1b
Determine the latency requirements from the RAN TR that apply for the "new state".

2
2 potential approaches for further evaluation (in addition to baseline move to connected and then transmit data)
b) Transmit data together with initial RRC message for transition to connected

c) Transmit data in "new state"

3
Questions for be answered for any proposal ()
- whether there is RACH, if so whether it is 2-step or 4-step (there could be 3 options)?

- contention resolution, full details including identifiers, resolution at which step (depends on exact procedure), etc?

- grant size, what are the supported sizes and how does the network determine the size to allocate?

- whether 0, 1, 2 or 3 RRC messages are used (from latency and overhead perspective, less messages could be better)?

- usage of HARQ/ARQ?

-  how is the UE context located and identified in the network?

- how to ensure that only the right UE is using the UE context, including the UE need to provide some proof of having the right UE security context?
- how to configure U-plane? Handling of DRB/SRBs, what level of QoS is supported?

-
How the AS state is updated and maintained in the network (incl. security keys, NCC, sequence numbers)?

- Which tasks does the UE perform, e.g. RLM, CSI/RRM measurements, etc at each step.



- whether the proposed solution would affect the coverage by deteriorating the success rate of   RRC signalling transmission
- how to decide when to use small data transmission (b) or c)) rather than move to connected and then transmit data? how potential subsequent transmissions and/or “large data” is handled, requiring transition to “full connected state”?
- How are DL acknowledgement handled (both on RLC and HARQ level) and on application layer?
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